AKO CITY

AP TRER T

3% 1 28158

—a—RAUR—F

wRoE KB S U
HBEZER N —VHER

Sl Y MEHERBGHEER DN\ —M—)VASHER

TEEDEBDRSNZUFEIDTEIS USBRENNZ UET,

15 - BXE2 | F70O0FBHERSHER DLV —R—)LDEE

8 iS5 HHN3EFE108248 (B) 9: 00~17:00

BPT - PN | MR RREHEE BB

Hs - 88 (PRUEVWCE)

F7O0L0RBHRMSHRBERDVDLZ/NU—N—ILOBDHBRERECDERDICT
RSVWZLEITDT, KBUBRENNZLET,

T8 H7TOOFBHERESHER DE/N\U—R—)LOSE
E SR STRHHEEERER - IRDASHES

T & HRHLDEZNU-R—ILERRES

ZNAE  80%

AR BIEERNDOERD

HERRE  WEEER UR—VHER

BUEL 17

T 5:43-68609 mig ( 2328 )
F A X:43-6895

BNEHET

OFNER (@ -8 OR—AXR—INDBE (@ - OFARSE E-@®)



F70E TEELEFRBRKE 2L NNL—FK—ILDER
HEF : §M3%F108248 (H) 9000 ~17800%9
AT RETEREHEE BES

T
SIAE : 804

AV SR FEEY—-)

PR AN L — R LER RS

A7y 7y

=152 FlHE F2E FI37E

Sl i - N i - - et =
Aa|l B 21—6 | BB |21—14|E|E| 6 —21 |15

A — Al A — Al A — A
kiR 2 — 0 2 — 0 0 — 2
=¥ BEA FE 5 A 1E0 15 A

B7ovy v

=152 EE e g2 E ERE e

2 5 —21 | = [ = [11—21 | 5 | 5| 21— 2 E
iz 2 —21 | mE | |9 —21 | FE|BE| 21— 7

& Al A Al A &

A — — — A
FiAR 0 — 2 0 — 2 2 — 0
=¥ 7~ A BERA = I A
BV Z7R FE)—7)
I BlRe Bots ERE

= [ 12—21 2 2 10 — 21 E E 19—21 | =
M| t# | 21 — 16 = | = 21 —13 | e 21 — 18 | 1

Bloo—22| gl |15—7|c|cl15—13]8B
PR 1 — 2 2 — 1 2 — 1
=¥ BFERC = B EFRB




GREEF—F XAV F)

AV R
B | ExEAI—) BF | #ERBEMBI— ) =152 R
ela—15] = w8 —21 | & =9 —2
el 21—6 || |Fa|B]| 5 —21 | M| | 12— 21
A — A A — A A —
BiE 2 — 0 FY & 0o — 2 FYHE 0o — 2
=Y BEA =2 B EREA =¥ EIEA - = A
FRAEA AV 5 AKERE
BMF—LE: TF—L)
(Lv2—a—1}) -
B B |7 A
= L & B |5t
EEE | E KA
(Aa—1F) (Ba—1}) = A
- . . - 3 i
Alfiz E2Ti B1fL A2{iz 0 155 A
E A SIEA 1N A TREEA
B77 X
)2 REE(Ca— ) BERB B 7 A KERE
Blo1—10|F (BMF— L8 3F—L)
& 3 -
M4 13 — 21 (Ca—+h) ® B | BEEEB
7 7 Clu C2fi
B 15— 7 C EEREB EERC EEE | EERC
BAE 2 — 1
B % 1 B




